57319012 HANSASTELA - Afwerkset bad -en douchekraan, 75x75 mm

7\
AY4
n
1]
=
un
L

EAN: 4015474277045
statichansa.com/57319012

Reserveonderdelen

1-58 ! s e SP57319012
T Ue

51 Naam Code

8‘ @-10.1
©-91 ,
821 5.3«8/~45‘_?4 Bo2 1 Hendel, 45 mm, (2011-) Chroom 59913272

= @9 11 Schroef, M5x28, SW2.5 59913273
93 14 0-ring, d 3x15 59913100
\@’ \@/ 15 Kap, (2011-) Chroom 59913271

s ° ‘<> SN 2 Kap, 333 mm Chroom 59912504
©_3A ©i %9.5 21 Rosassen Chroom 59913275
\@/ ., \@’ " 26— Ew 3 Afdekplaat, 75x75 mm Chroom 59914213
a2 @ EQ;L"—»[?-"E 31 Afdekplaat, 75x75 mm Chroom 59914214
’ g ~- 32 0-ring, 49x2 59913279

o8 33 0-ring, 60X3 59913280

% g 34 0-ring, d 40x2 59911507

5 Omstelknop Chroom 59913283

5.1 Pin, M6, 21 mm Chroom 59913284

52 Doorvoerbegrenzer 59911897

53 Rosassen 59914215

5.4 Schroef, M5x6, SW2.5 59912617

9 Doucheslang, L=1750, G1/2-M12x1 Chroom 59912281

9.1 Afdichtring, d 21x12x2 59912304

9.2 Terugslagklep 59905714

93 Afdekplaat, 75x75 mm Chroom 59913879

95 Houder Chroom 59913289

9.6 [DU3238] 59912337

9.7 Schroef, M4x45 59912291

9.8 Doorvoernippel 59913288

10 Handdouche Chroom 54390100

10.1 Doorvoerbegrenzer 59912777

NI, Inbouwverlengstuk kompleet, 30 mm, HM 3.5 (-2015) 59913189

N.I. Inbouwverlengstuk kompleet, 30 mm 59913190

NI Verlengschroeven, (2015-) 59914337

© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024


https://static.hansa.com/57319012

